SuMPO SuMPO EPD

4T NEBREBES (EPD)
Z§kFES ¢ JR-Al-25435E

YERIFIEB

RICOH

imagine. change.

KX)o —

RICOH COMPANY,LTD

BEHA
BRIBHLY

BEI REPE
L a0 Ol fE it
[RFRIRE, A, T8,
M- MR EE, BE- VY1)

HEmOBN, TELHR-FET
A=t 1 IM 7010 (for NA)
FEMRR-FETT
-EEH (EPAR)
/00 708%/4> (LT)
< FUY/AE-/AFY
- BERTRE A EE

- BB E EN R RE
-RARETIX A3

REILWEDHHEE

HASHYI- ERFAREXFHA1-3-6

https://www.ricoh.co.jp/

SUMPOIRIESAINTOT S A
— R RN AT IR E HEE RS
RRETREXAMHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

BREGH(EPHTR)

IM 7010 (for NA)
=

-—
(s’ .

KERICEENZ1YT-1EV 1L,
LEPDOLCAEEXRICIFIEFN TLEE A,

EHRES JR-AI-25435E
EAPCRES  PA-590000-Al-08
PCR% CIEYNG: DAl 7
NS 2026548308
REAEE1EE 2026428200
REEA VAT LRIEA R
RALES JV-AI-25435

IRIEEEAR 2031 2A19H
PCRLE1-DESE
HEBZE 2023F9H1H
£ZER Ml B
— A RE AT AT T IR HEE RS
B=ERIE"
S ERIREEE WH Bz
ISO14025(CfE 2 fe AT 5 R UT 5 DIRIL LIAREE
O ER W45

*YAT LR ER L EEFANORIEDH SR, YVATLRAEZ T REEEDH
Az H,

B (03)3777-8111 (KF)

F5RES © JR-AI-25435E


https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/

SUMPO SuMPO EPD SUMPOBIESANI TOI5 L

‘ EPD e — — AR VB R
-. .0 AAAAA HSA4TNBEEE (EPD) ERMTFREXAMET-14-8
MEIEEED KANDA SQUARE GATE
F8%&ES ¢ JR-AI-25435E https://ecoleaf-label jp
OF1791 7V EF SR
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 970 | kg-COqeq
[7ge(d 1.7 | kg-SO:eq
BRHE 049 | kg-Sbeq
m OFEMHIE mQ%EE = QiR
@A TR nOEE-YHAIIL
2F JHE| HfI AF OEMHREE Q%E Qi |opm-#EER OER- UYL
[URZH kg-CO.eq | 9.7E+02 || 5.0E+02 | 18E+01 | 81E+01 | 25E+02 | 1.1E+02
Bt kg-SO,eq | 1.7E+00 | 5.6E-01 7.0E-02 | 1.0E-01 9.5E-01 5.5E-02
BRHE kg-Sbeq | 4.9€-01 4.8E-01 9.0E-05 | 34E-04 | 1.1E-02 | 6.1E-05
JHH Hif mh-9E (ERHS) Bify
FEELE RS 9.0E+01 kg SUS 2.0E+00 kg
BEAREER 1.0E+02 kg TIVIZIL 1.1E+00 kg
5E 43E+01 kg
20t E 2.4E+00 kg
BRI EB M 3.6E+01 kg
FAER{L 1 stRE 8.4E-01 kg
H52 1.8E+00 kg
In 4.6E-01 kg
it 1.1E+01 kg
HBF| 4.2E-03 kg
EEEBLIR 17E+00 kg
At 8.8E+00 kg
Z0M 3.9E-02 kg




SuMPO EPD SUMPORIESNILTOIS A

SEuMI':’;DD . — R BE A AT T IR B
N |. ,,,,, S14FNBEEE (EPD) ST REEAMET-14-8
VERIFIED KANDA SQUARE GATE

BiES ¢ JR-AI-25435E https://ecoleaf-label jp

GOEEHEICEAT2EMIER
CBEEECAVSYTUAICBVWTRIRLEE SR
- EEHEPAR)
CBIGOEmITE ek
-AEFEAEAM C SFEM
A EERMER © 729,600803%
KEBRIRIF-AT-TO0II LR Ver3 00E T 5= ERA
‘EREAEE (DRI O&RFEET ELTVEEA,

©-1.Z0itbDIRIFRIE IR

- BRIMROHSHE B ICEEML TWEY

AHBOMIEEL, TEEMRTHEIFIAMAE, MF-DEEFISO14001FREEEUS THICTHTTONTVET,
FEEES 1 JQA—E-70001, BSI-EMS765926
https://jp.ricoh.com/sustainability/environment/management/iso

OERALEZRT-YDERA
IDEA v3.1.0. &V, TOJSLEFRERIVI.16EFERALTVET,

®fF%E

@7 -YEENH AL, PCRELVETE - EEMRBESRBLTIIEN,
OLLEIIOWTR, EE - EEREICRESNREEB/LLLSGELLIEHONEEA,
(B BB5URL ! https://ecoleaf-label jp/regulation/)
FiRES © JR-AI-25435E



